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sNHL= 456,797,000 456,796,000 1,000
= 365,277,394
< 91,519,606
A2l = X2t 456,797,000 456,796,000 1,000
= 365,277,394
< 91,519,606
IZMEEH 456,746,371 456,776,000 229,629
= 365,237,394
=) 91,508,977
HASEZZHNA(ABS0IIZSHSHIH) 456,746,371 456,776,000 129,629
2 365,237,394
=) 91,508,977
2 ZHIERE 447,149,371 447,078,008 71,363
= 357,559,794
< 89,589,577
307 glz2+ol & 447,149,371 447,078,008 71,363
= 357,559,794
< 89,589,577
05 RIZt2IE = 447,149,371 447,078,008 71,363
ESIE=S= JCRSE=S R Ry 443,299,371
= 354,479,794
< 88,819,577
DAL M FXH ?IE 3,700,000
= 2,960,000
< 740,000
D sdNSH /S 150,000
= 120,000
< 30,000
JBZHBMAISIE 2T 1,200,000 1,400,000 200,000
= 960,000
< 240,000
201 LEre Al 1,200,000 1,400,000 200,000
2 960,000
< 240,000
01 At 22/l 1,200,000 1,400,000 200,000
Ogst=2tl 1,200,000
Oz ZHHAMRAE =2 1,200,000
= 960,000
< 240,000
IBRSHAANR IS 10,000 10,000 0
= 8,000
< 2,000
201 Let2dE] 10,000 10,000 0
= 8,000
< 2,000
03 &At2 I 10,000 10,000 0
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2 592,000
= 148,000
308 XXM SOIA 740,000 732,550 7,450
= 592,000
< 148,000
01 X HHBILEES 740,000 732,550 7,450
OANZdE220II==24E 740,000
= 592,000
< 148,000
2SI ZdE=S=N 6,100,000 6,057,696 42,304
= 4,880,000
< 1,220,000
308 MtXIEHSOIH 6,100,000 6,057,696 42,304
=2 4,880,000
< 1,220,000
01 HXNHHBHELS 6,100,000 6,057,696 42,304
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= 4,880,000
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= 56,000
S 14,000
03 I AHA2 22+ 70,000 33,550 36,450
oz el RdS 70,000
= 56,000
< 14,000
308 XtXIEHHSOIA 1,400,000 1,399, 182 818
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OoAzg0 el At 1,400,000
= 1,120,000
< 280,000
HASEEASSHAIE=A 77,000 31,464 45,536
= 61,600
< 15,400
201 ¢er24| 10,000 10,000 0
= 8,000
< 2,000
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202 o4 | 17,000 21,464 N4, 464
= 13,600
= 3,400
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= 13,600
= 3,400
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= 40,000
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01 HIASS 50,000 0 50,000
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= 40,000
= 10,000

HEE S (AMa=EX ) 50,629 20,000 30,629
= 40,000
o 10,629
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= 40,000
o 10,629
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2 40,000
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